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GUESS PAPER - 2007
Class: X

MATHEMATICS
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General Instructions:

     ( i ) All questions are compulsory.

     ( ii ) The question paper consists of 25 questions divided into three sections –

           A, B and C. Section A contains 7 questions of 2 marks each. Section B is 

           of 12 questions of 3 marks each and section C is of 6 questions of 5

           marks each. 

     ( iii ) There is no overall choice. However, an internal choice has been provided in two

            questions of two marks each, two questions of three marks each and two

            questions of five marks each.

     ( iv ) In question on construction, the drawing should be neat and exactly as per the 

             given measurements.

     ( v ) Use of calculator is not permitted.  

                                                               
                                                             SECTION - A                                        

 (Qns 1 – 7 carry 2 marks each)

SECTION – A

1. Find the value of p for which the system of equations has a unique solution:


 
p x  + 2 y = 5


3 x + y = 1

2. If  m = 
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 find m2  + n2 – mn.

3. Equilateral triangles are drawn on the sides of a right angled triangle. Show that the area of the triangle on hypotenuse is equal to the sum of the areas of triangles on the other two sides. ( Use similarity of triangles )
4.  A TV can be purchased for Rs 24,000 cash or for Rs 8,000 cash down payment and six equal monthly installments of Rs 2,800 each. Calculate the rate of interest charged under the installment scheme.

5. Ram borrowed a sum of money and returned it in three equal quarterly installments of Rs 17,576 each. Find the sum borrowed, if the rate of interest charged was 16% per annum compounded quarterly. Find also the total interest charged.

6. If ( and ( are the roots of the equation x2 – 3x – 2 = 0, form an equation whose roots are  1 / ( 2( + ( ) and 1 / (2( +  ( ). 

7. Which term of the Arithmetic Progression 3, 10, 17, …… will be 84 more than its 13th term?

SECTION – B
( Q No 8 to 19 carry 3 marks each )
8. If three times the larger of the two numbers is divided by the smaller one, we get 4 as quotient and 3 as remainder. Also if seven times the smaller number is divided by the larger one, we get 5 as quotient and 1 as remainder. Find the numbers.

9. Express as rational expression 1 / ( x – 1 )  – 1 / ( x + 1 ) – 2 / ( x2 + 1 ) – 4 / ( x4 + 1 ) 

10. A takes 6 days less than the time taken by B to finish a piece of work. If both A and B together can finish it in 4 days, find the time taken by B to finish the work.

11. How many numbers of two digits are divisible by 7.

12. A mixer is available for Rs 1,500 cash payment or for Rs 360 cash down payment followed by three equal monthly installments of Rs 390 each. Compute the rate of interest charged under the installment scheme.

OR
A loan of Rs 2,700 is to be paid back in two equal annual installments. How much is each 
installment if the interest is compounded annually at 16%.

13. ABC is a triangle in which AB = AC and D is any point in BC. Prove that 

              AB2 – AD2 = BD . CD. 

14. Construct a ( ABC in which BC = 7 cm, ( A = 70( and the foot of the perpendicular D on BC from A is 4.5 cm away from B.

15. How many spherical bullets can be made of a solid cube of lead whose edge measures 44 cm, each bullet measures 4 cm in diameter.

16. Prove that, 

       tan A / ( 1 – cot A ) + cot A / ( 1 – tan A ) = 1 + tan A + cot A = 1 + sec A cosec A.

17. Represent the following data on a pie chart.

Items


Family A

family B

Food


40


60

Rent


20


40

Clothing

20


30

Education

10


40


Litigation

5


10

Miscellaneous

5


20

18. In what ratio does the y – axis divide the line segment joining the points P ( – 4, 5 ) and         Q ( 3, – 7 )?

19.  let the opposite angular vertices of a square be ( 3, 4 ) and ( 1, – 1 ). Find the co-ordinates of the remaining angular points.

SECTION – C

( Q No 20 – 25 carry 5 marks each )

20.  In ( ABC, DE (( BC, D ( AB and E ( AC, and AD:DB = 5 : 4. BE and CD intersect in F.  Find Area ( ( DFE ) /  Area ( ( CFB )

21. If a chord is drawn through the point of contact of a tangent top a circle, then the angles which the chord makes with the tangent are equal to the angles formed by the chord in the alternate segment. 

Two circles touch internally at a point P and a chord of the larger circle intersects the smaller circle in C and D. Prove that ( CPA = ( DPB.

22. The angler of elevation of a cliff from a fixed point is (. After going up a distance of k metres towards the top of the cliff at an angle of (, it is found that the angle of elevation is (. Show that the height of the cliff is k ( cos ( – sin ( cot ( ) / ( cot ( – cot ( )  metres.

23. A solid iron rectangular block of dimensions 4.4 m, 2.6 m and 1 m is cast into a hollow cylindrical pipe of internal radius 30 cm and thickness 5 cm, Find the length of the pipe.

24.  Find the missing frequency (p) for the following distribution whose mean is 7.68.

x:
3
5
7
9
11
13

f:
6
8
15
p
8
4

25.   Anil has an annual income of Rs 3,60,000. He contributes Rs 4,000 per month in his 

        P.F and pays an annual premium of Rs 15,000 for his LIC policy. How much should 

        he invests in NSC’s so as to get maximum deduction? After getting maximum 

        deduction he wants to pay income tax. He pays Rs 2,500 per month for 11 months 

        towards income tax. How much he has to pay in the last month of the year?                           

                             Rates of Income tax for male persons ( Below 65 years )

	Taxable income
	Income tax

	( I ) Upto Rs 1,00,000
	Nil

	( ii) Rs 1,00,001 to Rs 1,50,000
	10% of income exceeding Rs 1,00,000

	( iii ) Rs 1,50,001 to Rs 2,50,000
	Rs 5000 + 20% of income exceeding

 Rs 1,50,000

	( iv ) More than Rs 2,50,000
	Rs 25000 + 30% of income exceeding 

Rs 2,50,000


  ( a )  Savings: 100% exemption for permissible savings upto Rs 1,00,000.    

  ( b )  Education cess:  2% of the income tax.
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